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Vol =
FER N E
T4 | D07 R AE L X ZL R 4 T
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FLLt - =X 1 38, 789, 569
LT = 1 11, 475, 889
HRHEI T = 1 191, 458 | #iEH! 580 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
T 2 1 8,898, 531 | B&{A (SLtR) hE 1+ 570 m3
2. 5mAT ;
BRI (Bite) R+ 370 m3
2. 5mPL 4. OmARTi ;
BRI (Bite) R+ 780 m3
4. 0mPL E
b 1, 880 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 1, 900 m3
+1 &850, 000m3ATH ;
Rkt A = 1 1,031, 316 |{EmEIEE (G)LE0) 140 m2
BRI v+ R O + kit
LRI (B 1350) 1, 980 m2
T i S O I BRI
P v T = 1 1,354, 584 | H&Hh 560 m3
B2 A couE
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VIR VAR YR N EVZA I VAR PYZ ) = 1 725,640 | BUGFT LR Y-} 4 m
(2) 18-8-40 (&%) JEHE 55cm H & 35¢cm
/) =h (R3%0) 7" ny ) il 8 m2
150kg/MEAT 22350 Bmi(7 FHARER RC-
40 A - BEiAay(100) 18-8-40 (FiF)
/) =h (R%0) 77 ny ) il 9 m2
150kg/MEAT 22350 Bmi(7 FHARER RC-
40 A - BEiAay (150) 18-8-40 (Fi4F) ;
JA - BEARE () 6 m3
FARAG RC-40 ;
H Hi 0.2 m2
TR AHERT B M t=10 ;
Bl HT Ruiav - 19 m
(2) 18-8-25(20) (FF) 1E84cm ;
Bl HT Ruiav - 5 m
(3) 18-8-25(20) (AJF) 1E84c m ;
BEFT/ A 1kay)) -} 1 E10
(1) 18-8-40(FE4) ME30cm ;
/) =h7" my ) T GER7 vy /5R) = 1 10, 463, 093 | B FT IR/ -} 97 m
(1) 18-8-40(&)F) JElE 30cm &S 35¢cm
W7 ny R 508 m2
P&z 20084 | 250kg/m2Lhk b (GBH4477) Weky-
MY
H Hx 0.7 m2
TR AHEET B M t=10 ;
Bl HT Ruiav - 97 m
(1) 18-8-40(FE4) ME30cm ;
H#ET R L 2 1 344, 493 | #Eav))-} 40 m2
(1) 18-8-40(EH) m S 20cm
fiA T 2 1 2,743,600 |IE% 1,520 m2
R T 500m2LA E
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TSy « TfE - FER B {7 % & A bl A iR
PEREE R T 2 1,014, 970
T FTHERE T (&4 BT =X 1,014,970 |/NEijERE 2 m3
PERELH)E & 0.61m 18-8-40 (B¥F) ;
) A Bk 13 m3
PERELH)E & 3.06m 18-8-40 (B )F) ;
SRR T = 438, 688
2/))=47"ny) T = 438, 688 | FEAEHT 6 m2
HAITyv1T/40~0 B 0. 15m ;
avy )= (1) 77 ny )i 17 m2
150ke/fAA 82350 HLEIIA7 Z2FE A P
AR RC-40 ;
We L BG A4 (42imm) 3% 17 m2
BEARREAT 10mm ;
H Hi 0. 04 m2
T W B i =10 ;
Bl HT Ruiav - 17 m
(4) 18-8-25(f&4F) ME35cm ;
BUEFT/ A 1kay)) -} 4 &
(2) 18-8-40 (F&i4F) 1E30c m ;
R T = 8,767,097
FRANIBA AT L 2 122,877 | B =} V= 27 m
F&AE M Gr-C-2B 21mPL_E100maAyw;  AhR S04 1
40 .
TA7 7 MEHEE T X 1,201,203 | TEEME (BE - BRI 464 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 464 m2
AR A2 (20) AH%5/E 50mm 1. 4mPd |3
.OmELF
AR T = 3,256, 751 |7 VA UBLAIE 73 m
300X 300 ;
7" Vv A NURMATE 34 m
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600X 600 ;
NS 13 %
300/ 2fd ;
t2-bE BIEE) 14 m
SNERIFE ¢ 600 360° %X LA ;
(N IRV RN S DK 52 m
3007 ;
AT = 482,840 | BT A A 1 T
(1) 800X 800X 1000 18-8-25 (&i4F) ;
BT B K 1 (£
(2) 600X600X600 18-8-25 () ;
BT B K 1 (£
(3) 600X600X600 18-8-25 () ;
BT B K 1 (£
(4) 600X600X600 18-8-25 () ;
BGHT K 1 (£
(7) 800X 1286~1500 X800 18-8-25 (& ¥F) ;
BGHT K 1 (£
(8) 800X800X900 18-8-25(E47) ;
5 2 e
JTV=F0" 2 600X 600 T-2 WH AKX ;
PR TE AR T =X 3,028,920 |¥&JEIRET )] 258 m
18-8-40 (F4F) ® & 20cm ;
BRav7)-h T F2y 674,506 | 31—} 26 m2
(2) 18-8-25(FEH )M & bem ;
) -h 144 m2
(3) 18-8-25(EH) M 10cm
HEE L = 1, 657, 286
B M 2= T X 44,631 | B O =1 V=) 21 m
WAk, Gr-C-2B ;
HEETE LT x 1,178,722 | 27)-Mixss s L 83 m3
MRS BhlE T
S R ) T 30 n
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TEHX4y « Tfd - FER B Az £ & F i il A R
TAT 7V MEHEERR 15emPA T
A IR A 360 m2
TAT MR EERIE 5 c m
TE LB T =Y 433,933 | BoE 83 m3
/) -k (BERR)
Stk 18 m3
TA77 bk (2. 35t/m3) ;
RISy 83 m3
/) -k (BERR)
RISy 18 m3
TA77 bk (2. 35t/m3) ;
A Y 651, 000
B EHT = 651, 000 | A3 iEFEEZ i E 1 =
[ERAE Xy = 38, 789, 569
ST g ¢ = 4, 544,000
BISTIGE: = 1, 026, 000
L PN R i e = 568, 000 |BRITFHAH 1 =
REFAEE 1 F2V
BGRESCGES (5 1) = 458, 000
B (FEHL) = 3, 518, 000
T = 43, 333, 569
Bl gy = 13, 642, 000
T =5l = 63, 875, 869
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— e PR A E20 1 11,254, 131
Tk 2V 1 75, 130, 000
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R PERE
TH4 | BT RIR) R AL R R4 T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
IR 2V 1 4,112, 300
)+ X 1 4,112, 300
S =« 1 4,112,300 | B&{K (5E2) B £ 17, 000 m3
4. 0mPA | ;
[P % 2V 1 4,112, 300
Hm R E20 1 606, 000
e Tre: X 1 76, 000
BUGBREIUEL (REH L) 2V 1 76, 000
sty (R L) 2V 1 530, 000
ol T 2V 1 4,718, 300
TR e gL E20 1 2, 182, 000
T AT 2V 1 6, 900, 300
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